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et Z2 /S ddsot A|LEO| 2827 | xshell

root@linux
client e

hw:~/final3z 1s
ple.txt a

root@linux-hw:~/final3# ./s

[1] 67068

root@linux-hw:~/final3# Server running...

root@linux-hw:~/final3# cd client

root@linux-hw:~/final3/clientz

server

server.c

.Jclient gnu.tar.gz & ./client example.txt & ./client sample3.

root@linux-hw:~/final3d/client# [Server]lFile sent: sample3.txt

[Client]File
[Client]File
[Server]File
[Client]File
[Client]File
[Server]File
[Client]File
[Client]File

[2] Done
[3]1- Done
[4]+ Done

Ls£ fianl3 C|HE2|0f| 2o QU= niUal ClJHEZE

.Jserver® Fi

size: 3541 bytes
received: sample3.txt
sent: example.txt
size: 2574 bytes
received: example.txt
sent: gnu.tar.gz
size: 3565643 bytes
received: gnu.tar.gz

.fclient gnu.tar.gz
JSclient example.txt
.fclient sample3.txt
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-hw:~/final3/clientz

root root 4086
} root root 3 ..
0 root root 3192 } 94:06 client
-MW-r--r-- root root y 3 4 client.c

-MW-r--r-- root root 3¢
-MW-r--r-- root root 35
root@linux-hw:~/final3/clientz
root@ling wi~# cd final3
root@lin w:~/final3# 1s

-MW-r--r-- root root 2574 } 84:23 example.txt
3 : .
1

3 root root

0 root root

root root

-MW-r--r-- root root
-rW-r--r-- root root 35

-MW-r--r-- root root

- WX -Xr-X root root

-MW-r--r-- root

Aok
e
of
n

root@linux-hw:~/final3# cd client
root@linux-hw:~/final3/client# ./client aaa.bbb

[Client]File not found: aaa.bbb

root@linux-hw:~/final3/client# [Server]File not found: aaa.bbb

root@linux-hw:~/final3/client# 1s -
total 3520

% root root
root root

root root 2 4 client.c
root root 2 : xample. txt

- r_ -
- r- -
--r-- root root 3 :
--r-- 1 root root 3541 Jun 18 04:
root@linux-hw:~/final3/client# |

2
3 ) 3 ..
¥ 1 root root 319: 14:06 client
1
1
1

EXNSHX| 2 Tt (aaa.bbb)ol CHSHAM = HWS SHED mhAo| GICHH MEO|A
O] gict= MIAIXIE E=stct. S20|AE CIMEZ| M Is -al2 S8 MHO| =S|

e mE2 MG = AS & & ULL



send_file( *fp, c_sock) {

stat file stat; o z Oézq_
1f (fstat(fileno(fp). &f1le stat) < ) { -E}ég—\ :_I_,)\/Z,- (2
perror|( E
return;

the : : olo| A7 g
file size = file stat.st size; 2\ — [
if (send{c sock, &file size, sizeof(file size), ) < ) {

peror(’ (5 e s po)efez RUCk

return;

buffer[BUFFSIZE];
n;

tlp e ol
while ((n = fread(buffer, ', sizeof(buffer), fp}) = ) { [q’é—‘l (llo g|
A

if (send(c_sock, buffer, n, ) =

perror( ): —?:?.M‘{“_,ég_ﬂl"\elé il(l‘k/l—

return;

N2 M7 Tk
*handle_client( *arg) { %a\-\ 6 ‘ B‘ 7(\ [ r

c_sock = *({ *)arg):
filename[BUFFSIZE];

ol o €3 4 TR ol33 Yedt

if (recv(c_sock, filename, sizeof(filename), ) = 0} {
perror( ):
return

fp = fopen{filename, ; o 3 M ©
it (fp e z:t H
if (fp ) 4 ‘[[Pég 7\| Epma

*msg = H
send{c_sock, msg, strlen(msg) + ., °);
primtf( ., filename);

}else {
sy - ,. o\Q Aoye g

send{c_sock, msg, strlen(msg) + ., °);
3EA A1BY
aendfﬁle 5Tz

primtf( . filename);

send_file(fp., c_sock);
fclose(fpl:
}

close{c_sock];
free(arg);
return




return

}

A main{) {
s_sock, c_sock;
sockaddr_in server_addr, client_addr;
socklen t client addr len;
pthread_t tid;

s_sock = socket(AF_INET, SOCK_STREAM, ):
if (s _sock < ) {

perror(

exit(1};

}
bzero(&server_addr, sizeof(server addr)):

server_addr.sin_family = AF_INET; F\B’\ Zf{l\__ ﬂé?‘z‘)

server_addr.sin_port = htons({SERVERPORT);
server_addr.sin_addr.s_addr = INADDR_ANY;

if {bind(s_sock, { sockaddr *)&server addr, sizeof({server_addr}) = 7} {
perror( F
exit({1};

if (listen(s_sock, 1) = ) { . %ap‘ﬂg_

perror(
exit{1);
}

printf({
while (1) {

client_addr len = sizeof( sockaddr);
c_sock = accept(s_sock, | sockaddr *)&client_addr, &client_addr_len);
if (c_sock = ) {

perror }:

exit(l);

*new_sock = malloc{sizeof{in=));
*new_sock = c_sock; A%]\C

if (pthread_create(&tid, . handle _client, *Inew_sock) 1= ) { M‘f/lj
perror( ¥ )

exit({l); L]
2Pl

1
/Od!})d
close(s_sock); L [N

return




Client.c A3 E

A M-

receive file( c_sock, *filename) {
*fp = fopen{filename, );
if {(fp = ) {
perror(
exit(l);

buffer[BUFFSIZE];
n;

AR

while {(n = recw(c_sock, buffer, sizeof(buffer), 2}) = ) {

if (fwrite(buffer, , n, fp) !=n) { G\\D\E—l%:’i’
ittt ’ o 2 joly|2
J2 ctiol 13 T4

}

if (n= o) {
perror{
exit(1);
}

fclose(fpl:

main{ arge, *¥argv[l) {
if (arge != ) {
fprintf(
exit(l);

*filename = argv[.];
c_sock;
sockaddr_in server_addr;
socklen_t c_addr_size;

b T
c_sock = socket(AF_INET, SOCK_STREAM, '}; O

[Jaf (c_sock = o) {
perror|{
exit(l);

}

bzero(&server addr, sizeof(server addr));

server_addr.sin_family = AF_INET:
server_addr.sin_port = htons({SERVERPORT] ;

~ -~
AN l
Mpae 2)
server_addr.sin_addr.s_addr = inet_addr({ ¥ 4
1f (connect{c_sock, { sockaddr *)&server_addr, sizeof(server_addr)) = 7} { ﬁl&l%

perror( ):
exit(1);




1f {connect{c_sock, ( sockaddr *)&server_addr, sizeof(server_addr)) =
perror( )
exit({});

if {send{c_sock, filename, strlen{filename), }}-j:: ) o HFE‘:U .l%'%. F“\H’]i g_.‘é

perror(
exit({l}:;

failure msg[BUFFSIZE];
if (recv{c_sock., failure_msg. sizer ) < 0) HU‘&_]{'E'{ EIIH mihR\%
perror( )

exit{1);

1f (stremp(failure msg, ) [
fprintf( . , filename):
close({c_sock);

o HEbUA e DI
o AUy

printf( , Tile size);

receive_filel{c_sock, filename);
printf( . filename}:

closelc_sock);
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